Equilibrium Worksheet 5

Solve each of the following problems. Show your work in the space provided. Write your final answer

on the blznk line. 1
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1. Write an equilibrium expression for the following reaction:
Ag * By <====> AB, N

Then calculate the value of K‘,q given that [A] = 1.1 x 103M, [B] = 4.4M, and

[AB] = 1.5 x 10M. Finally, tell whether reactants or products are favored, and why.
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2. Write an equilibrium expression for the following reaction:
Agg + By <====> AyBg

Then calculate the value of Keq given that [A,] = 1.9 x 10°M, and
[A;B] = 1.4x 10°M. Finally, tell whether reactants or products are favored, and why.

. _Lae] e o’
k”l- [AJ.] "~ 1.9 073 7

o SyvLacoL. 0./'“

-

Rio,..d-'—JE:, et Ce.ua-hw’\ l}gw 14441 75"“3:5 L\,w“ 1

S

Write an equilibrium expression for the following reaction:
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ZA(g) + B(g) <====> A:)_B(g)

Then calculate the value of Keq given that [A] = 1.0 x 10°M, [B] = 2.2 x 10*M, and
[AB] = 6.5 x 10"'M. Finally, tell whether reactants or products are favored, and why.
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Then calculate the value of K., given that [B,] = 5.5 x 10#M, and [B] = 3.9 x 10"M. Finally,

. ~ tell whether reactants or products are favored, and why.
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3. Write an equilibrium expression for the following reaction:

Then calculate the value of Kcq given that [A] = 4.6 x 10°M, and [B] = 1.5 x 10°M. Finally,
tell whether reactants or products are favored, and why.
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6. Write an equilibrium expression for the following reaction: | -

AByy + energy <====> Ay + Bag, |

Then calculate the value of Keq given that [B,] = 1.3 x 10°M. Finally. predict the effect of
increased temperature on the value of Keq and explain your answer.
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a1 Write an equilibrium expression for the following reaction: )
Then calculate the value of Keq given that [A] = 1.6 x 102M, [B] = 1.4 x 10" *M, and

[A;B] =3.6x 10T M. Finally, predict the effect of decreased temperature on the value of Keq
and explain your answer.
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8. Write an equilibrium expression for the following reaction:
Agg + By <====> Ay + ABy -
Then calculate the concentration of A(g) given that Keq = 1.5 x 10°M, and [A;] =25x 10 4

M. Finally, predict the effect of adding some A, on the values for [A], and explain your
answer.
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9. Write an equilibrium expression for the following reaction:

23y T By £====> ABy + By,

Then calculate the concentration of A,B, given that K., = 7.1 x 10 M, [A] = 1.9 x 102M,
[B-] = 4.1 x 10°M. and [B] = 8.4 x 10 M. Finally. predict the effect of adding some A

on the values for [B,], [A,B], and [B], and explain your answer.
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